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Question Paper Specific Instructions

Please read each of the following instructions carefully before attempting questions :

There are EIGHT questions divided in TWO SECTIONS and printed both in HINDI and in
ENGLISH. -

Candidate has to attempt FIVE questions in all.

Questions no. 1 and 5 are compulsory and out of the remaining, any THREE are to be attempted
choosing at least ONE question from each section.

The number of marks carried by a question [ part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be
stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided. No
marks will be given for answers written in a medium other than the authorized one.

Word limit in questions, wherever specified, should be adhered to.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a question
shall be counted even if attempted partly. Any page or portion of the page left blank in the
Question-cum-Answer (QCA) Booklet must be clearly struck off.
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Qs A
SECTION A

Ql. TrfoRga woi ¥ @ ud® &1 W 150 YeEl § WHTEEAT S gRer
i :
Critically examine the following statements in about 150 words
each : 10x5=50

(a)

(b)

(c)

(d)

(e)

“SufievETg 1 SR WS € U fashd @k o, Fiite favem v
T I A BT @ foh SATIRIRT I Ueh M S Fe wfear W@ R 17

“Colonialism had a twisted logic of its own for commercialization. It
emerges on analysis to have been often an artificial and forced process.” 10

1857 % I, “Fueh 3MigierHl # fohaM T yq@ wifts & &9 & 3w & |7

After 1857, “the peasants emerged as the main force in agrarian
movements.” 10

“URdtE SR S ToHifae SaaT q9T SISl % SEEHEeEE 3
SHIIATYY] STIHM 3 AN icieH bl 5= fean |”

“Awakened political consciousness of Indian masses, bound with
dishonourable and cowardly insults of the British led to the movement of
Non-Cooperation.” 10

S TS 3 |l 3Tae AeieH Y YesTd i 99 I YEst § vk gwret
T I ae oft |7

When Gandhiji launched the Civil Disobedience Movement he was
“desperately in search of an effective formula.” 10

“are T % /9 3T gy ot fmied 1 wm e afe wdede o,
at fora nifa & 38 gemifea forn T Se@ ag o sft g0 & w17

“If abdication of British responsibility at the time of transfer of power
was callous, the speed with which it was done made it worse.” 10
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Q2. (a)

(b)

(c)

Q3. (a)

(b)

(c)

i i, ATA-AGL gl 3R FTA-HUST gl 3 Hid hl &0 ARG H Fe=ea
1 wfegfear @ aeqa: e & fon | ==t Hif |

The Carnatic Wars, the Anglo-Mysore Wars and the Anglo-Maratha
Wars had virtually eliminated the French from the contest of supremacy
in South India. Discuss.

WReTa qftae fadaeh, 1861 &1 SRqd Fd §U 3N &1 #7a o1 & wra & fog
THATH I9Yh G TR H FRbE amwmE o | fewof i |

While introducing the Indian Councils Bill of 1861, the British thought
that the only Government suitable for India ‘is a despotism controlled
from home’. Comment.

fiet fogie & 1@ 9o 99 ‘a8 "o 2 formd a6 fwa wgm e o e
% Mgl & I & e fogw @ o | favawo hifse |

The root of the whole question behind the Indigo Revolt ‘is the struggle
to make the raiyats grow indigo plants without paying them the price of
it’. Analyse.

T AY HeAd & b TERET WRA HR % IdeT H e U ges,
g FvENTet ag o ? foe=at HINT |

Do you agree that ‘the decline of traditional Indian artisan production
was a fact, sad but inevitable’ ? Discuss.

v s s FE REE W el Tee S aea § fifkd 3
e fafew wmmm &1 foly @ it wh T R WEWYU W TTud
# | foa=m s |

The historical significance of tribal and peasant uprisings in India ‘lies
in that they established strong and valuable traditions of resistance to
British rule’. Discuss.

‘Torifass TR qur Usgard) femmum & fmin ot yar e &% SewE H
ITed A B 99 T IgE Hregw o | feoanft i |

To accomplish the aims of education, ‘political propaganda and
formation as well as propagation of nationalist ideology’, the press

became the chief instrument. Comment.
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Q4. (a) FEITH-Tfiih GuR NidreHl 1 wEERa gfeHm Faw wh U aEitE
o 78 o, 39 e aoifae it T e 9 sreafis gwik
fopar’ | wlteror ifer |
The universalist perspective of socio-religious reform movements was

not a ‘purely philosophic concern; it strongly influenced the political and
social outlook of the time’. Examine. 20

(b) mmwwwmﬁmmﬁm,ﬂﬁ@mﬁw
HIE 3N T AR H wETHE oo waw wE o’ | fvere Hif |

The Congress Socialist Party agenda was not to cut off from the
Congress, but ‘intended to give the Congress and the national movement
a socialist direction’. Analyse. 20

(¢) T2 | fawew dquaTg 1 gferd Igca FFg whR 1948 @ 1953 % W & qTied
% SR | T ?

How did the factionalised Dalit leadership in Hyderabad undergo a
period of intense re-organization between 1948 and 1953 ? 10
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s B
SECTION B

Q5. FfeiRea woai # ¥ T&® &1 WU 150 Iedl H HHTGHATHS: Gequr

EIELE
Critically examine the following statements in about 150 words
each : 10x5=50

(a)

(b)

(c)

(d)

(e)

“mfehl @aEd # gg fadrTear 1783 § d9 WHIG g3 99 A 4 WY@
TS FHRERT ! TaAal sl Wiehfd SqH 6 |7 |

“The American War of Independence finally ended in 1783 when Britain
acknowledged the independence of the United States of America.” 10

“Giféze Tigem 3 T hadt AT a1 il FB AN B G0 R, fug $E gHEl
! Hfieh i 3R ufaen § f weg@ fovan mam |7

“The Chartist Movement not only fulfilled some of the demands of the
middle class, but its ramifications were felt among the working class and

the colonies as well.” 10

“1848 % TGl =l YT TR TSgaTg o foem & et /= o1 1”7

“The Revolutions of 1848 were shaped by the ideas of democracy and

nationalism.” 10

“1867 @ 1902 % HeA gfaur bRt | faifew wmwTSwaTg HTH 7 qH dSaet
GEAT g B o @ 9 guifaa or |7

“The British imperialism in South Africa from 1867 to 1902 was

influenced to a large extent by the capitalist mining of diamonds.” 10

“sfta g 6t TuTfta & IWGa 0. €. H ggEar At e At of of |7

“The supremacy of USA after the end of Cold War had its challenges as
well.” 10
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Q6.

Q7.

(a)

(b)

(c)

(a)

(b)

(c)

qifTehi SR foamanl 3 widieh wifa & Hfa wot @ wh 8, w=q 78 Fmlie
3R anfdfes R @ ISl oft | suwE Hifvw |

The philosophers and thinkers may have laid the foundation of the

French Revolution, but it was precipitated by social and economic’

reasons. Explain.

HAIFIATE THTSETE T3 ! T UE1 A5Tie auTeard fagid amar & ) 49e %
gfgr sl sIRE i # gam 2 | faaee iR |
Marxian socialism claims itself to be a scientific socialist theory capable

of explaining the history of humankind. Discuss.

THIGE 0T ST shifd aeh Hiftd T& o1, 3ifug amaamemg it i & fem
f 38 1fvE Tesh & | e hifsg |
Enlightenment was not confined to scientific revolution alone, but

humanism and ideas of progress too were its inseparable constituents.

Examine.

weg ot o fowa gfee W sfenfies sifa 1 wome wen feqw, ot Acuw sk
St seem & foamd # wfafsfea gar @ | Ruoft i |
The impact of industrial revolution on the middle class world view is

reflected in the views of Adam Smith, Thomas Malthus and Jeremy

Bentham. Comment.

1848 | 1870 H UW % Whoal dh 3ol o Uhishto & fafte =il it fad=mn
HIfvT |
Discuss the different stages of the unification of Italy from 1848 to the

occupation of Rome in 1870.

Jata 61 9fy # fgdta fava 3g & i gwifga 9 | s Hifo |
The Treaty of Versailles contained in itself the seeds of the Second
World War. Examine.
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Q8.

(a)

(b)

(c)

“Sa foefra fava 3g v gon @ wYw U W wHE A EvEmar off |7

T9eh! IUATUR] 3N KT 1 ITeeHTHS T HIfT |
“UNO was the necessity of the time when the World War II ended.”

Critically examine its achievements and shortcomings.

cfquigd wfirn # sufEw foeht orgem Y ypemd % Ufdmies wRU
9 — HEEpfdh A, TRETE e YR qun anEd e e S |
feramn hifs |

The historical causes for the rise of anti-colonial movement in
South-East Asia were cultural differences, spread of western education

and the emergence of Communist ideas. Discuss.

Arab nationalism was not only a cultural movement, but also an

anti-colonial struggle. Comment.
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